| BEN | BAEREEW | txB d | @RLFFY R | C H

.8x25 W3/8 M6 x 20 24 80
.8x%x25 W3/8 M6 x 20 24 83
.8x%x25 W3/8 M6 % 20 24 85
.8x25 W3/8 M6 x 20 24 90
.8x%x25 W3/8 M6 x 25 24 94
.8x25 W3/8 M6 x 25 24 97
.0x25 W3/8 M8 x 25 24 105
.0x25 W3/8 M8 x 25 24 110
.0x25 W3/8 M8 x 25 24 125
.0x32 Wi/2 M10 x 35 32 160

\
T 4\\
f%m
W/
\\,,///
\
B
x| O
o | o1
> | >
O |
N | ©
~ | ©
W WINININ =] =] =] = =] —

SRR M) 150A 170. 2 0x32 | Wi/2 M10 x 35 32 | 175
AL T Y b
) I
X
W
— +
s S I 2FULAPCR/NURA AT
ME SUS304 RENE RE .l :1
%5 HE wRE BE A%
F=A%
e 10110010182 RN n 1-4
._‘I A SHEET
NICHIES = S = = s &
| INTEC [Hitffa/7“y{7$kit2§%i EMBERE | A3




